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# 1st kind
for(j=0;j<N;j++){
for(i=0;i<N;i++){
if (x[j].ge.qli]l .and. x[jl.le.qli+11){

B[il[j] =1
}
elseq{
B[il[j]l =0
}
¥
¥
# 2nd kind

for(j=0;j<N; j++){
for (i=0;i<N;i++){
if (qli+1].eq.q[il){

BP = B[il[j]
¥
elseq{

BP = (x[jl-ql[i])/(qli+1]1-q[i]l)*B[i] [j]
}

if (i+l.ge.N) {

BL =1

¥

elseq{
BL = B[i+1][j]

}

if (qli+2].eq.qli+11){
BL = BL

}

else{

BL = (qli+2]-x[j1/(q[i+2]-q[i+1])*BL
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}
B[i][j] = BP + BL

# 2nd kind
for(j=0;j<N;j++){
for(i=0;i<N;i++){
if (q[i+2].eq.ql[il){

BP = B[i] [j]
}
elseq

BP = (x[jl-ql[i]1)/(qli+2]1-q[i]1)*B[i] [j]
}

if (i+l.ge.N) {

BL =1
}
elseq
BL = B[i+1] [j]
}
if (qli+3].eq.qli+11){
BL = BL
¥
elseq{
BL = (ql[i+3]-x[j]1/(q[i+3]-q[i+1])*BL
}

B[i][j] = BP + BL
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z = cos(z) sin(y) (16)
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subroutine bd(mdim, m, ndimx, nx, ndimy, ny, ichix, ichiy,

$ X, ¥, 9%, qy, b, bx, by, bxj, byj)

c create the matrix of N x N dimension for the determination of
c parameters of spline function order ICHI using Deboor Cox argorism
c

c assumption.. the data point is placed periodically

c (i.e. x[j]1 = ja)

c

c input

c mdim .. declared row dimension of B in calling program
c m .. order of the matrix (namely, nx * ny)

c ndimx .. declared row demension for x

c nx .. number of data points along x axis

c ndimy .. declared row demension for y

c ny .. number of data points along y axis

c ichix .. order of spline function for x axis

c ichiy .. y

c x(n) .. data points along x axis

c y(n) .. data points along y axis

c

c output

c gx, qy .. node data

c b .. created matrix to be solved



c work

o bx .. B spline for X axis
c by .. Y

c bxj .. B spline for X axis
c byj .. B spline for Y axis
c

integer mdim, m, ndimx, nx, ndimy, ny, ichix, ichiy

real b(mdim, m), x(nx), y(ny), gx(nx+ichix), qy(nx+ichiy)
real bx(ndimx, nx), by(andimy, ny)

real bxj(nx), byj(ny)

real function spf (nx, ny, ichix, ichiy, gx, qy, a, x, y)

c

c calculate the value of 2D spline function at (x, y).

c

c input

c nx, ny .. number of data points

c ichix, ichiy .. order of spline function

c ax, qy .. node point

c a .. parameter vector for spline function
c X,V .. input data

c

integer nx, ny, ichix, ichiy
real gx(nx+ichix), qy(ny+ichiy)

real a(nx*ny), x, y
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